PAAT = 1 &l YR BBWC
A RRONZE

Hu: Y S4(SHUBY/ )
Ciol: PIRER 9 ABHE

2A - EH - O2(3) - NRAY - BAS 0] bt o E e HIDE2
22 ect 15,900,222 13,836,474 2,063,748
= 515,350 500,000 15,350
(o= 1,969,450 1,936,000 33,450
Al 12,942,122 11,200,474 1,741,648
CH 200,000 200,000 0
= 273,300 0 273,300
2ZA SH (2L 2/ 22) 4,381,160 4,170,310 210,850
s 515,350 500,000 15,350
== 279,450 276,000 3,450
Al 3,586,360 3,394,310 192,050
2SS L AZINY 4,381,160 4,170,310 210,850
= 515,350 500,000 15,350
== 279,450 276,000 3,450
Al 3,586,360 3,394,310 192,050
2= 2 opE 470,090 450,190 19,900
201 L2 3FH| 241,290 221,390 19,900
01 At22teld| 225,550 205,650 19,900
O3ZAME U8 Xtz H&E L R0l
15,000, 0002 1Al 15,000 0 15,000
OHMItA EII2J &Y
100,000& *7H*73] 4,900 0 4,900
LS O 535,000 525,000 10,000
201 et 3| 131,500 121,500 10,000
01 AtR2elt] 49,500 39,500 10,000
OZFAl ZZWLHM 225
10,000,000 %1 A! 10,000 0 10,000
QEWLE Azt 1,133,580 1,006,000 127,580
201 23| 20,000 0 20,000
01 At22teld| 20,000 0 20,000
Og=3 QLEXLE =4 Jtetpt FoHIE L
20,000,000 %14l 20,000 0 20,000
207 AN 117,980 110,000 7,980
01 A=<4H| 95,980 110,000 14,020
OYFs QEHLA AL|/EE MY SH(HHTH
Ar2t) A 9,000,000 9,000 10,000 21,000
Og=d o232 SYFTHHE HEY (T
Ar2t) 2% 86,980,000 86,980 100,000 13,020
02 AN 22,000 0 22,000
OYFs QLEHIE SHOIX 2S(0OH)
22,000,00081%14! 22,000 0 22,000
401 A EHIZL O] 981,000 896,000 85,000
01 Al&H| 981,000 896,000 85,000
OZFs LEHIE Ittt HiHRE ZHISA
25,000,000 % 14! 25,000 0 25,000




A 2HEINEE
M 2ATY SH (Y 2E/2Y)
Rl 2ZEE 2 A4S (crol: ®al)
2B O9(3) - MRAY - BES Ofl o I3 o GImE==T
OZFs LEXIZE Jtetet Os9 4X)
2,000,000 %2000 & 40,000 0 40,000
OZFs LQLEZIE oHHE FH|
5,000,000& 44 A 20,000 0 20,000
405 KHAHE S| 14,600 0 14,600
01 XL =SS FHSHI 14,600 0 14,600
OS28 Jtettt otel Hiolg +e
1,000, 000 +8JH 8,000 0 8,000
QK= SE3t&4 &1 7L 6,600 0 6,600
—AIHE SHE P 500,000 %674 3,000 0 3,000
—AIRE SEO P2
1,000,000 *2JH 2,000 0 2,000
—NIEE At 28 500, 000 %21 1,000 0 1,000
—NEE sgdeXl 2
300,000 & %24 600 0 600
IFA 2E2HX SSENES 24 56,510 30,000 26,510
307 212t01™ 26,510 0 26,510
05 BIZIREZ 26,510 0 26,510
OZFUSEYESHI0MIIT 298| K&
26,510,000 1Al 26,510 0 26,510
(2)SSO0IYE HMAMAIL FH| 26,860 0 26,860
= 15,350 0 15,350
< 3,450 0 3,450
Al 8,060 0 8,060
402 2IZ2EXHE0I1A 26,860 0 26,860
s 15,350 0 15,350
< 3,450 0 3,450
Al 8,060 0 8,060
02 CIZFXHEAIH 2 (0| X THEA) 26,860 0 26,860
O0FZE CHMIMAIA 2+ XA
26,860,000 * 1A 26,860 0 26,860
s 15,350 0 15,350
== 3,450 0 3,450
Al 8,060 0 8,060
ZIAEEN SH(23U2E/2) 4,112,000 4,049,000 63,000
== 30,000 0 30,000
Al 4,045,000 4,049,000 24,000
= 37,000 0 37,000
NEsH 54 2 g2 1,363,000 1,367,000 24,000
adgA 36,000 40,000 24,000
307 212t01™ 36,000 40,000 24,000
04 QIZFSHAIAIE E X 36,000 40,000 24,000
OzZAMo0| MESH(BXEs FUH)(0arE)
23 36,000,000& 36,000 40,000 A4,000
=22t THE 2,749,000 2,682,000 67,000
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o /e
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el 18y [1)=T1

[y = —

2= B4 (S AZ/22)
AFEZI2Z M

SA BB SR(E) - HRAY - BES Ofl Aot J| & o HimE2
= 30,000 0 30,000
Al 2,682,000 2,682,000 0
= 37,000 0 37,000
I st=addlZSt s A& 0 900,000 900,000
308 AHXIHHMSO0I& 0 900,000 900,000
13 SISO B A ELAEAIS Y] 0 900,000 900,000
OY=F sI=26HI23EH KA (HS2AIY B!
"(E)g= S=aMHIRSEN NJA'CR)
2A 0 0 900,000 900,000
g= SEALIRORIEHM X 0 143,000 143,000
308 AtXISHMIS0I& 0 143,000 143,000
13 B2 SOCHEHE A X LAY 0 143,000 143,000
OZ= RELLIRLEISH XIS (HRAY BH&:
"(E)EFE REAURCRRIEH X"'22)
2E 0 0 143,000 143,000
(Z)Y= =262 K& 920,000 0 920,000
< 20,000 0 20,000
Al 900,000 0 900,000
308 AtXIHHMSO0I& 920,000 0 920,000
< 20,000 0 20,000
Al 900,000 0 900,000
13 SISO B A ELAEAIS Y] 920,000 0 920,000
OY= s=26HI2sEM XA (FALEA AS)
(NIRAIY HA:"F= st=MUI2SSH K& 0A)
920,000,000 *1A! 920,000 0 920,000
== 20,000 0 20,000
Al 900,000 0 900,000
(2)¥=x= 2eqULRU2IEM K& 190,000 0 190,000
< 10,000 0 10,000
Al 143,000 0 143,000
= 37,000 0 37,000
308 KtXISHMIS0I& 190,000 0 190,000
== 10,000 0 10,000
Al 143,000 0 143,000
= 37,000 0 37,000
13 B2 SOCHEHE & X LAY 190,000 0 190,000
OgzF RAJAURLIRIEM KA (MSAE HE
"PF: RAEURCIEH X" 0A)
190,000,000 * 1A! 190,000 0 190,000
== 10,000 0 10,000
Al 143,000 0 143,000
= 37,000 0 37,000
2ZT20NL (2o 202/ 20 7,227,031 5,462,161 1,764,870
< 1,660,000 1,660,000 0
Al 5,130,731 3,602, 161 1,528,570




2A:
X{XH -
o /e
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MO
tou i Qi

IR
TN (2ot 2t/ 2k a)
=

2A - HH - G(3) - HIRAY - BES Ofl At ol o HRz2
CH 200,000 200,000 0
= 236,300 0 236,300
b el ey AN 3,775,431 2,246,861 1,528,570
2224 HoX|JA 3,014,794 1,604,424 1,410,370
201 LE23H| 115,194 93,424 21,770
01 At22teld| 25,050 14,500 10,550
OUEHIN = elEH, ctUE S EE22 MHE
10,000,000 x 14! 10,000 0 10,000
O=ZHEsd 22 22 =28 72
2,000,000 % 14! 2,000 0 2,000
OECEN MEZ(ZZHIOIEJ) (0laE2)
28 450,000&*100 A 450 500 A50
SAANZAE HAEE 2(0AEZ)
2 900,000+6= 5,400 6,000 AB00
ORAAL =Xte| AHEEE S F(HaE2)
ZA 900,0002*3H 2,700 3,000 A300
OR40I2 =&l ANMEE S 2 (HlarE)
ZE 900,000&*3H 2,700 3,000 A300
OE0I2328 29 I8 S F(0aE2)
AA 1,800,000 1,800 2,000 A200
02 2224l 80,144 78,924 1,220
OAgaTetd d2AEH &=
65,00021+62) 520 0 520
OFAAL 22X Xt MEY NHAE SERS
100,000 +7& 700 700
03 A2 10,000 10,000
OUEYIX M= IHEA! izl
10,000,000 x 14! 10,000 0 10,000
207 AN 684,000 72,000 612,000
01 A =<H| 662,000 72,000 590,000
OZZMLAIE JI=2HE L EBdd ZAH Y
23 20,000,000 %424 80,000 40,000 40,000
OAA ZE I EHE & 82Y
400,000,000 % 14! 400,000 0 400,000
OAA ZE IR 2HE MefeFHerd)r 24
150,000, 00024% 14! 150,000 150,000
02 LN 22,000 22,000
O=gHOtEsd ZEE SHO0IK 5 89
22,000,00081%14! 22,000 0 22,000
401 Al EHIZL LY 2,172,000 1,417,000 755,000
01 Al&H| 2,172,000 1,417,000 755,000
OZ0I23d NLS(Z2Xtel &, StHIHIZI0F,
HE2AAN) Algze]
23 30,000,0002 30,000 15,000 15,000
ORAAL F=XE A EXISBA HAIEHES
ZA 60,000,0002 60,000 45,000 15,000




A 2HEINEE
A 2N (2L 22/ 2E)
thelr atZeldelry (Crol: X 21)
2A - HH - G(3) - HIRAY - BES Ofl At ol o HRz2
OZ0tF2& JtHHI2I0F XIS 2= SA
20,000,000 *1Al 20,000 0 20,000
OZ20F33 TEHSIEA HSEX Wi
12,000,000 * 1Al 12,000 0 12,000
OR&AM2EX S0 EH & &X
20,000,000 1Al 20,000 0 20,000
OR&A2EX] sE4t2 I ZHI
30,000,000 * 1Al 30,000 0 30,000
O=gHI0IER A= c122E
150,000,000 * 1Al 150,000 0 150,000
AN 22X =XHE & HAZ 022
2D & dXES 60,000,000 %14l 60,000 0 60,000
SAAL 22X X AEY IIHAIE EX
45,000,000 % 1Al 45,000 0 45,000
OS &AL 2& X 23 2=A 210 28 HE 9
18,000,000 * 1A 18,000 0 18,000
OZFAAL 2HZotet S &Xl
150,000,000 * 1Al 150,000 0 150,000
OZZOHE I|12A T AIAE S| B4
20,000, 0002* 174 20,000 0 20,000
OAAREY 8AHE HIAZ2E Ex3SAt
200,000,000 *1A! 200,000 0 200,000
405 KHAHE S| 43,600 22,000 21,600
01 XL =SS FHSHI 43,600 22,000 21,600
OUEHH He sASHIX 2L
400,000 %4l 1,600 0 1,600
O=gHI0IS HZE 28 &) ¢ 20,000 0 20,000
—&2s 5,000,000 *14] 5,000 0 5,000
— NSRS 7,500,000 %= 15,000 0 15,000
HHEZw LY 29 L 2l 310,637 192,437 118,200
401 AIEBIZL S008I 120,000 20,000 100,000
01 Al&H| 120,000 20,000 100,000
OHiEZw ST SUHAIE A
100,000,000 %1 Al 100,000 0 100,000
405 KHaHE S| 93,119 74,919 18,200
01 AR ESEFHSHI 93,119 74,919 18,200
OtiEzwn =x8Za =iz L 2els 2% 25 72
2 7,163,0002*13= 93,119 74,919 18,200
=2t RO 3,436,300 3,200,000 236,300
< 1,660,000 1,660,000 0
Al 1,340,000 1,340,000 0
CH 200,000 200,000 0
= 236,300 0 236,300
()G 224019 AlE LA (XEAL) 1,236,300 1,000,000 236,300
== 500,000 500,000 0
Al 500,000 500,000 0




SA 2N
I 2ABTNL (2L 2/ 2E)
S 2SSt TRANE (Crel: & 2l)
2A - HH - H(SH) - MRAIY - BES Oil AboH Jl & oA Hlns2
= 236,300 0 236,300
401 Al&H| 2 S| 1,236,300 1,000,000 236,300
< 500,000 500,000 0
Al 500,000 500,000 0
= 236,300 0 236,300
01 Al&H] 1,230,000 1,000,000 230,000
OY= 224019 Al" ZAAIY
2R 1,230,000,0002 1,230,000 1,000,000 230,000
< 500,000 500,000 0
Al 500,000 500,000 0
E= 230,000 0 230,000
03 Al CHHI 6,300 0 6,300
OY= 4224012 Al" ZAAIY
6,300, 00024 14! 6,300 0 6,300
E= 6,300 0 6,300
THRPES (L) (St 2/ 2) 25,028 0 25,028
RSN 25,028 0 25,028
RSN 25,028 0 25,028
802 BHEt=D|E 25,028 0 25,028
01 2NBx3E=2 188 0 188
02022 = 188 0 188
—ADIEZZ ZAAIY BMCHY
151,400 % 14! 152 0 152
—ADIERZ ZAAMY ZHCHAH(0IX})
35,5304+ 14! 36 36
02 Al - CHIBZ3EHEZ2 24,840 24,840
02023 = 22,436 0 22,436
— B2 |23 = MK (01X}
10,810%14A! 1 0 1
—FF2HQULILCIRISHAIA
1,960 %14l 2 0 2
—HF2HAU2CI2IEM(OIRH)
4,6702%14] 5 0 5
—QAUEHZFSHHIE
36,0002 %14 36 0 36
—X9 AT Hol MHIA JHEANY
11,050,620 x 1Al 11,051 0 11,051
—XI AZIZZ BHO| AHIA JHAAF(OIXH)
20,4504 14! 21 0 21
—KRUAD MAHSA 22ZAS Y & X2
48,8502 14l 49 0 49
—RUAD M 2ZAE Y L XI2(0IXH)
2202414 1 0 1
—LARZ AEINL RIRAFS
79, 1602414 80 0 80




2AM:
X{XH -
o /e

cH):

2AM -3 . S2(3H) - MRAEY - BES Ofl Akt J| X o Hw=2
—|AZZ AFEJREE ARAFI (O
2,560 %14 3 3
— A2 ES0BE XA (0IXH)
7,910 141 8 8
—RIBH HLT2 )24 ALY
1,798,800 14l 1,799 1,799
—ZFlstd Hm T2 )eH SHAIA(0|K)
8, 45020 x 14! 9 9
—MEZHEH 22X (01X
6, 1602 *1 Al 7 7
— 25 2EHEA SEAY
9,335, 2602114l 9,33 9,336
—SSIZGHAAL SEAIL (01X
17,1402 %1 Al 18 18
O022E 2,041 2,041
— 25 2EHEA SEAY
2,005,250 14l 2,006 2,006
— 2SI TBGHEAL SAAIS (01X
28,7202 %1 Al 29 29
—AFEI2 MY 2SS RXIL (01X
5,82020x14! 6 6
020208 & 363 363
—MESS YEI2 O3 2YXAAIY
360,570 14l 361 361
—MEste JETew 2YXAAY (0l
1,88020x14! 2 2




